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Directions (Q. 17- 22):  

E04613

Direction for Question : - Read the following passage carefully and answer the questions given below. दिये
गये अवतरणकोध्यानपूववक पढे तथा पूछे गये प्रश्ो ोंका उत्तर िीदिए।

A small survey was conducted over 250 persons to find which kind of movie they like
from Bollywood, Hollywood and South India. 10% people don't like any kind of movie.
12 person like Bollywood and South but not Hollywood which is 50% more than the
number of person like all three kind of movies. Number of person who like Bollywood
and Hollywood but not South is equal to the number of person who like Bollywood and
South Indian. Number of person who like Hollywood and South Indian movies is 3 more
than that of who like Bollywood and South Indian. Ratio between number of person who
like only Bollywood only Hollywood and only South Indians is 13:12:9.

250व्यक्तियोों पर एकछोटा सवे आयोदित दकया गया यह िानने के दिये दक वे दकस प्रकार की दिल्में पसन्द
करते हैं बािीवुड, हॉिीवुड या साउथ इोंदडयन 10%व्यक्ति दकसी प्रकार की दिल्म पसन्द नही ोंकरते हैं 12व्यक्ति
बॉिीवुड तथा साउथ इोंदडयन पसन्द करते हैं। िेदकन हॉिीवुड नही ों िो दक तीनो ों प्रकार की दिल्में पसन्द करने
वािो ों से 50 प्रदतशत अदिक है। उन व्यक्तियोों िो बॉिीवुड तथा हॉिीवुड पसन्द करते हैं। दकनु्त साउथ इक्तियन
दिल्में नही ों पसन्द करते हैं की सोंख्या उन व्यक्तियोों की सोंख्या के बराबर है िो बॉिीवुड और साउथ इक्तियन
दिल्में पसन्द करते हैं। हॉिीवुड तथा साउथ इक्तियन दिल्में पसन्द करने वािो ों की सोंख्या बॉिीवुड तथा साउथ
इक्तियन पसन्द करने वािो ों से 3 अदिक है। केवि बॉिीवुड, केवि हॉिीवुड तथा केवि साउथ इोंदडयन दिल्में
पसन्दकरने वािो ों के मध्यअनुपात 13 : 12:9 है
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Direction for Question : - Read the following
passage carefully and answer the questions given
below. दिये गये अवतरण को ध्यानपूववक पढे तथा
पूछे गये प्रश्ो ोंका उत्तर िीदिए।

A small survey was conducted over 250
persons to find which kind of movie they
like from Bollywood, Hollywood and South
India. 10% people don't like any kind of
movie. 12 person like Bollywood and South
but not Hollywood which is 50% more than
the number of person like all three kind of
movies. Number of person who like
Bollywood and Hollywood but not South is
equal to the number of person who like
Bollywood and South Indian. Number of
person who like Hollywood and South
Indian movies is 3 more than that of who
like Bollywood and South Indian. Ratio
between number of person who like only
Bollywood only Hollywood and only South
Indians is 13:12:9.
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(A)27.5% (B)31.25% (C)22.5% (D)25% (E)None of these

Number of persons who like Bollywood movies is how much percent more than the number 
of persons who like South Indian movies ? 
बॉिीवुड दिल्में पसन्दकरने वािो ोंकी सोंख्या साउथ इोंदडयन पसन्दकरने वािो ोंकी सोंख्या से
दकतने प्रदतशतअदिक है ?

E04613
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Find the percentage of persons who like at least two movies ? 

उनव्यक्तियोोंका प्रदतशतज्ञातकरें िो कम से कमिो प्रकारकी दिल्में पसन्दकरते हैं ?

(A)32% (B)24% (C)22% (D)25% (E)None of these
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Find the number of persons who like Hollywood and South Indian movies ?

उनव्यक्तियोोंकी सोंख्या बताइएिो हॉिीवुड तथा साउथ इोंदडयन दिल्में पसन्दकरते हैं

(A)13 (B)18 (C)23 (D)27 (E)None of these

E04613
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Number of persons who like only one kind of movie is what percent of the number of 
persons who like only two kind of movies.(approx)
केवि एकप्रकारकी दिल्में पसन्दकरने वािो ोंकी सोंख्या केवििो प्रकारकी दिल्में पसन्दकरने
वािो ोंका दकतना प्रदतशत है ? (िगभग)

(A)250% (B)325% (C)225% (D)361% (E)185%
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Number of persons who like only South Indian is what times of the number of persons who 
like Bollywood and South Indian but not Hollywood ?
उनव्यक्तियो ोंकी सोंख्या िो केविसाउथ इोंदडयन पसन्दकरते हैं उनव्यक्तियो ोंकी दकतनी गुना
है िो बॉिीवुड तथा साउथ इोंदडयन पसन्दकरते हैं िेदकन हॉिीवुड नही ों।

(A)2.5 (B)3.2 (C)2.1 (D)2.25 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)3642 (B)4096 (C)2890 (D)3780 (E)None of these

The bus fare for one person is Rs.420 from Haridwar to Haryana and the train fare between the same 
places for one person is equal to three fourths of the bus fare for two persons between the same 
places. What is the total fare paid by 3 persons travelling by bus and 4 persons travelling by train 
between the two places?
एकव्यक्तिका हररद्वार से हररयाणा बसका दकराया 420 रु. है और उन्ी ों स्थानो ों के बीच एकव्यक्ति
का टर ेन का दकराया िो व्यक्तियो ोंका उन्ी ों स्थानो ों के मध्य के बस के दकराये का तीन चौथाई है। 3
व्यक्तियोों द्वारा बसका अिा दकया गया दकराया तथा 4व्यक्तियोों द्वारा टर ेन का कुि दकराया ज्ञात
कीदिये ?
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(A)136km (B)147km (C)129km (D)144km (E)None of these

The speed of a boat in still water is 16 km/hr. and the speed of the current is 2 km/hr. It takes a total of 
9.5 hours to row upstream from Point A to B and downstream from Point B to C. If the distance 
between Point A to C is one-third the distance between Point B to C, then what is the total distance 
covered by the boat from Point A to B and B to C?
एक नाव की क्तस्थर िि में चाि 16 दकमी./घोंटा है और िारा की चाि 2 दकमी./घोंटा है | यह दबोंिु A से
दबोंिु B तकऊर्ध्वप्रवाह िाने में और दबोंिु B से दबोंिु C तकअनुप्रवाह िाने में कुि 9.5 घोंटे िेती है। यदि
दबोंिु A से दबोंिु C के बीच की िूरी दबोंिु B से दबोंिु C के बीच की िूरी का एक दतहाई है, नाव द्वारा दबोंिु A 
से B और B से C तक तय की गयी कुि िूरीक्या है ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)7500 (B)76800 (C)8550 (D)8210 (E)None of these

In a partnership A invest Rs. 34800 and was joined by B after 6 months with investment of Rs. 43500. 
After another 6 months C also joined them with investment of Rs. 58000. If after two years total profit 
of Rs. 25270 is obtained. Find the share of B.
एकसाझेिारी में A ने 34800 रूपये दनवेश दकये तथा 6 महीनो ों बाि B, 43500 रूपये दनवेश के साथव्यापार में शादमि हुआ
औरअगिे 6 महीनें बाि C भी 58000 रूपये के दनवेश के साथव्यापार में शादमि हुआ। यदि 2 वर्व के अन्तमें 25270 

रूपये का िाभ हुआ। B का दहस्सा ज्ञातकीदिए।
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)4.28 (B)5.15 (C)2.96 (D)3.21 (E)3.67

Sanju covers 20 km distance with a speed of 5 km/h, then he covers the next 15 km with a speed of 3 
km/h and the last 10 km is covered by him with a speed of 2 km/h. Find out his average speed (in 
km/hr) for the whole journey. (Approx)
सोंिू ने 5 दकमी / घोंटा की गदत के साथ 20 दकमी की िूरी तय की, दिर वह अगिे 15 दकिोमीटर की
िूरी 3 दकमी / घोंटा की रफ्तार से तय करता है औरआक्तिरी 10 दकमी की िूरी 2 दकमी / घोंटा की
रफ्तार से तय की िाती है। पूरी यात्रा के िौरान उसकीऔसत गदत (दकमी / घोंटा) में ज्ञात कीदिये।
(िगभग)
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)505 (B)610 (C)575 (D)476 (E)None of these

In mahendra the average salary of the entire staff in a office is Rs 24000 per month.The average salary of 
officers is Rs 92000 and of non officers is Rs 22000. If the number of officers is 15, then find the no of 
non-officers in the office.
महेंद्रा के एककायाविय में पूरे स्टािकाऔसत वेतन 24,000 रुपये प्रदत माह है । अदिकाररयो ोंका
औसत वेतन 92000 रुपये और गैर अदिकाररयो ोंकाऔसत वेतन 22,000 रुपये है। यदि अदिकाररयो ों
की सोंख्या 15 है, तो कायाविय में गैर-अदिकाररयो ोंकी सोंख्या ज्ञात कीदिये ।
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Direction (31–35): The question given below is followed by three statements. You have to 
study the question and the statements and decide that information in which of the 
statement(s) is/are necessary to answer the question.
नीचे दिए गये प्रश् के बाि तीनकथन दिए गयें है।आपप्रश्औरकथनो ोंका अध्ययनकीदिए
औरयह तयकीदिये दककौनसा/से कथनो ों में िी गई िानकारी प्रश्का उत्तर िेने के दिए
आवश्यक है/हैं।

(a) Any two  

(b)1 and 2  

(c)2 and 3  

(d) All three together are not sufficient

(e)None of these 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

Each of the following question consists of a question followed by three statements I, II and III. You have to study the 
questions and statements and decide, which of the statement (s) is/are necessary to answer the questions.
नीचे प्रते्यक प्रश् में एक प्रश्और उस के तीन कथनो ों में िानकारी िी गई है, आपप्रश्औरकथनोों का अध्ययन कीदिए
औरयह तयकीदिए दककौनसा/से कथनो ों में िी गई िानकारी उत्तर िेने के दिएआवश्यक है।

How much articles are sold ?
दकतने सामान बेचें गये हैं ?

I.    The total profit obtained is Rs. 1596.
II.   The cost price of per article is Rs. 632.
III.  The selling price of per article is Rs. 765.
I.     कुि िाभ 1596रू. प्राप्त हुआ।
II.    प्रदत सामान की िागत 632रू. है।
III. प्रदत सामान का दव.मू. 765 है।
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Each of the following question consists of a question followed by three statements I, II and III. You have to study the 
questions and statements and decide, which of the statement (s) is/are necessary to answer the questions.
नीचे प्रते्यक प्रश् में एक प्रश्और उस के तीनकथनोों में िानकारी िी गई है, आपप्रश्औरकथनोों का अध्ययन कीदिए
औरयह तय कीदिए दककौनसा/से कथनो ों में िी गई िानकारी उत्तर िेने के दिएआवश्यक है।.
What is the speed of train ?
रेिगाड़ी की गदतक्या है ?

I.     Train passed a pillar in 18 sec.
II.    Train passed a platform of equal length in 36 sec.
III.  The length of train is 300m.
I.    रेिगाड़ी एकिमे्भ को 18 से. में पार करती है।
II.   रेिगाड़ी समान िम्बाई वािे पे्लटिामव को 36 से. में पार करती है।
III. रेिगाड़ी की िम्बाई 300मी. है।
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X, Y and Z together started a business. What is Y's share?
I.    The amount  invested by X and Z is twice the amount invested by Y.
II.   The ratio amount invested by X and Y is 4 : 5.
III.  Investment time of X and Y is 9 months and 6 months respectively more than  investment time of 
Z.
नीचे दिए गए प्रश्ो ों में तीन कथनो ों के माध्यम से कुछ िानकाररयाों िी गई हैं आपको यह दनणवय करना है दकक्या कथनो
में िी गई िानकारी उत्तर िेने के दिए पयावप्त हैं।
X, Y और Z ने दमिकर एकव्यवसायआरम्भ दकया। Y का दहस्साक्या है?
I.   X और Z द्वारा दनवेदशत रादश Y द्वारा दनवेदशत रादशकी िोगुनी है।
II.  X और Y द्वारा दनवेदशत रादश के बीच अनुपात 4 : 5 है।
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The questions given below contain three statements giving certain data. You have to decide whether the data given in the 
statements are sufficient for answering the question.
नीचे दिए गए प्रश्ो ों में तीन कथनो ों के माध्यम से कुछ िानकाररयाों िी गई हैं आपको यह दनणवय करना है दकक्या कथनो
में िी गई िानकारी उत्तर िेने के दिए पयावप्त हैं।

Rs. 9460 is distributed among A, B and C. What is B's share?
रू 9460 की रादश A, B और C के बीच दवतररत की िाती है। B का दहस्साक्या है?

I.  A's share is  3/7 of the total share of B and C.
II.  B's share is equals to the total share A and C.
III. C's share is 0.25 times the total share of B and A.
I.   A का दहस्सा, B और C के कुि दहसे्स का 3/7 है।
II.  B का दहस्सा A और C के कुि दहसे्स के बराबर है।
III. C का दहस्सा B और A के कुि दहसे्स का 0.25 है।
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The question given below is followed by three statements. You have to study the question and the statements and decide 
that information in which of the statement(s) is/are necessary to answer the question.
नीचे दिए गये प्रश् के बाि तीन कथन दिए गयें है।आप प्रश्औरकथनोों का अध्ययन कीदिएऔर यह तय कीदिये दक
कौनसा/से कथनो ों में िी गई िानकारी प्रश् का उत्तर िेने के दिएआवश्यक है/हैं।

What is the area of right-angled triangle?
एकसमकोण दत्रभुिका के्षत्रििक्या है?

I.    The perimeter of the triangle is 30 cm.
II.  The base of the triangle is 87.5% more than the height.
III. The hypotenuse of the triangle is 17 cm.
I.   दत्रभुि का पररमाप 30 सेमी है।
II.  दत्रभुिकाआिार ऊँचाई से 87.50% अदिक है।
III. दत्रभुि का कणव 17 सेमी है।
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What value should come in the place of question mark(?)in the following questions?

61.  

(A)3 197 / 330 (B)5 13 / 330 (C)1 197/ 330 (D)3 187 / 330 (E)6 330 / 187
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What value should come in the place of question mark(?)in the following questions?

62. 15% of 578 + 22.5% of 644 = ?

(A)231.4 (B)233.6 (C)231.8 (D)231.6 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

63. 

(A)4 1/40 (B)5 1/40 (C)6 1/40 (D)5 3/40 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

64. 868 × 12 ÷ 8 + 8685 = ? − 382

(A)10379 (B)10369 (C)10459 (D)10259 (E)10796
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What value should come in the place of question mark(?)in the following questions?

65. 84% of 8650 + 35% of 8500 = ? 

(A) 10241 (B)10441 (C)14250 (D)10421 (E) 12421
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What value should come in the place of question mark(?)in the following questions?

66. 450% of 8400 = ? % of 600 

(A)6150 (B)6250 (C)6300 (D)6450 (E)6425
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What value should come in the place of question mark(?)in the following questions?

67. 19 × 1786 ÷ 47 + 52 = ? 

(A)694 (B)744 (C)754 (D)774 (E)775
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What value should come in the place of question mark(?)in the following questions?

68. 86184 ÷ 27 = 76 × 2 × ? 

(A)24 (B)26 (C)34 (D)32 (E)21
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What value should come in the place of question mark(?)in the following questions?

69. 62% of 1240 − ? % of 860 = 562.4

(A)32 (B)26 (C)36 (D)35 (E)24

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What value should come in the place of question mark(?)in the following questions?

70. 188.21 − 27.54 − 11.93 = ?                                          

(A) 147.74 (B)148.74 (C)138.74 (D) 137.74 (E)157.74
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Directions (11 – 15):- In the following questions, calculate quantity 1 and quantity2, compare them 
and answer according to the following options.

(a) If Quantity 1 > Quantity2
(b) If Quantity 1 < Quantity2
(c) If Quantity 1 ≥ Quantity2
(d) If Quantity 1 ≤ Quantity2
(e) If Quantity 1 =  Quantity2 or no relation can be established
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In each of the following question, a question is followed by 
information given in two statement named as Quantity-I(Q1) and 
Quantity –II (Q2). You have to study the information along with 
the question and compare the value derived from Quantity-l and 
Quantity-II. Then answer –

Q1² - 5.4Q1+5.04=0

Q2²- 9.2Q2+21=0

दनम्नदिक्तित प्रश्ोों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो
कथन पररमाण-I(Q1) और पररमाण- II (Q2) में िी गयी हैं।आप
प्रश् सदहत सूचना का अध्ययनकर पररमाण ।और पररमाण- II 
से प्राप्त मानो ों की तुिना कीदिये और उत्तर िीदिये -

Q1² - 5.4Q1+5.04=0

Q2² - 9.2Q2+21=0
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In each of the following question, a question is followed by 
information given in two statement named as Quantity-I(Q1) and 
Quantity –II (Q2). You have to study the information along with the 
question and compare the value derived from Quantity-I and 
Quantity-II. Then answer -
Find the time taken by Aarti to complete the work
Q1- Aarti working with Neha, who is 20% more efficient more 
efficient than her, completes the whole work in 12
days. Q2- Aarti completes 40% work working with 60% efficiency in 
20 days.

दनम्नदिक्तित प्रश्ो ों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो कथन
पररमाण- I (Q1) औरपररमाण- II (Q2) में िी गयी हैं।आप प्रश् सदहत
सूचना का अध्ययन कर पररमाण- I और पररमाण- II से प्राप्त मानो ों
की तुिना कीदिये और उत्तर िीदिये -
आरती के द्वारा कायव को करने में दिया गया समय ज्ञात कीदिये -
Q1-आरती नेहा के साथ कायव करते हुए िोदक उससे 20%अदिक
कुशि है पूरे कायव को 12 दिनो ों में समाप्तकरती है ।
Q2-आरती अपनी क्षमता की 60% क्षमता के साथ कायव करते हुए
40% कायव को 20 दिनो ों में पूरा करती है
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In each of the following question, a question is followed by 
information given in two statement named as Quantity-I(Q1) and 
Quantity –II (Q2). You have to study the information along with the 
question and compare the value derived from Quantity-I and 
Quantity-II. Then answer - Find the profit percent of shopkeeper

Q1-Ratio of MP and CP is 5:3 and he offers a discount of 20% on cash 
payment. 
Q2-Shopkeeper purchased some apples at rate of 45 Rs/dozen and 
sold all at rate of 5 Rs/apple.

दनम्नदिक्तित प्रश्ोों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो कथन
पररमाण । (Q1) और पररमाण- II (Q2) में िी गयी हैं। आप प्रश् सदहत
सूचना का अध्ययन कर पररमाण ।और पररमाण- II से प्राप्त मानो ों
की तुिना कीदिये और उत्तर िीदिये -

िुकानिार का िाभ प्रदतशत ज्ञात कीदिये -
Q1-अोंदकत मूल्य तथा क्रय मूल्यका अनुपात 5: 3 है और वह नकि
भुगतान पर 20% की छूट प्रिान करता है।
Q2- िुकानिार ने कुछ सेब 45 रुपये / ििवन की िर से िरीिाऔर
सभी को 5 रुपये/सेब की िर से बेच दिया।
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In each of the following question, a question is followed by information 
given in two statement named as Quantity-I(Q1) and Quantity –II (Q2). You 
have to study the information along with the question and compare the 
value derived from Quantity-l and Quantity-II. Then answer -

What is the rate of interest? 

(Q1) If a sum of Rs 5000 amounts to Rs 6050 in two years.

(Q2) If the differnce between the compound interest and simple interest 
on a sum of Rs 18000 at the same rate of interest for 2 years is Rs 405.

दनम्नदिक्तित प्रश्ो ों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो कथन
पररमाण-I(Q1) और पररमाण- II (Q2) में िी गयी हैं | आपप्रश्सदहत सूचना
का अध्ययन कर पररमाण ।और पररमाण- II से प्राप्त मानो ों की तुिना
कीदिये । उत्तर िीदिये -ब्याि िरक्या हैं ?

(Q1) यदि िनरादशरू 5000,2 वर्व में रू 6050 हो िाती हैं।

(Q2) यदि िनरादशरू 18000 के चक्रवृक्तिब्यािऔरसािारणब्यािका
अोंतर 2 वर्व में रू 405 हैं।
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In each of the following question, a question is followed by information 
given in two statement named as Quantity-I(Q1) and Quantity –II (Q2). You 
have to study the information along with the question and compare the 
value derived from Quantity-I and Quantity-II. Then answer -

What would be the percent discount ?
(Q1) On buying a dozen apples. A man buys a single apple for Rs. 25. If he 
were to buy a dozen apples, he would have to pay a total amount of Rs 
250 ?

(Q2) When a company decided to sell Rs 60000 T.V. set for Rs 50000.
दनम्नदिक्तित प्रश्ोों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो कथन
पररमाण-।(Q1) औरपररमाण- II (Q2) में िी गयी हैं।आप प्रश् सदहत
सूचना का अध्ययनकर पररमाण ।और पररमाण- II से प्राप्त मानो ोंकी
तुिना कीदिये | उत्तर िीदिये - छूट प्रदतशतक्या हैं ?

(Q1) एक ििवन सेब िरीिने पर एकव्यक्तिको एक सेब 25 रूका
दमिता हैं यदि वह एक ििवन सेब 250 रू केिरीिे।
(Q2) िब एककों पनी 60000रूकी टी.वी. 50000 रूमें बेचे।
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In each of the following question, a question is followed by 
information given in two statement named as Quantity-I(Q1) and 
Quantity –II (Q2). You have to study the information along with the 
question and compare the value derived from Quantity-I and 
Quantity-II. Then answer -
Find the time taken by Aarti to complete the work
Q1- Aarti working with Neha, who is 20% more efficient more 
efficient than her, completes the whole work in 12
days. Q2- Aarti completes 40% work working with 60% efficiency in 
20 days.

दनम्नदिक्तित प्रश्ो ों में प्रते्यक प्रश् के दिए कुछ सूचना एवों िो कथन
पररमाण- I (Q1) औरपररमाण- II (Q2) में िी गयी हैं।आप प्रश् सदहत
सूचना का अध्ययन कर पररमाण- I और पररमाण- II से प्राप्त मानो ों
की तुिना कीदिये और उत्तर िीदिये -
आरती के द्वारा कायव को करने में दिया गया समय ज्ञात कीदिये -
Q1-आरती नेहा के साथ कायव करते हुए िोदक उससे 20%अदिक
कुशि है पूरे कायव को 12 दिनो ों में समाप्तकरती है ।
Q2-आरती अपनी क्षमता की 60% क्षमता के साथ कायव करते हुए
40% कायव को 20 दिनो ों में पूरा करती है
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